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1. What is a deadlock, and how can it be avoided? Discuss several deadlock-avoidance strategies.

2. What three languages were adopted by the DBTG to standardize the basic network data model, and why was such

standardization important to users and designers?

3. Ttis assumed that we have the following key values in sequence: 30, 22, 18, 31, 25, 5, 10. Write out the max heap after

each value is inserted into the heap.

4. List the five layers of the TCP/IP layering model and briefly describe the functions of each layer.

5. What are the differences between TCP and UDP protocols? Give at least one example application for each protocol.

6. A CPU-scheduling algorithm determines an order for the execution of its scheduled processes. Given # processes to be

scheduled on one processor, how many different schedules are possible? Give a formula in terms of n.
7. Explain the concept of transaction atomicity.

8. What is the main advantage of using protocol ports instead of process identifier to specify

the destination within 2 machine?

9. Explain the I/O-buffering types that are supported by ISO-Cs standard /O library.

10. Use Huffinan’s algorithm to construct an optimal binary code for the following table.
Letter: A B I MS X Z

Frequency: 12 7 18 10 9 5 2




